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GENERAL KNOWLEDGE
erver a1 G o wfe form doft o il € 7

(A) TR (B) 3faE (C) o (D) 3 | ¥ s Tl
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

2. = weA fou R, T & ek 1 AR (A) TAT GER T HR (R) HET TR |
AR (A) : TS 3fEAT T3S, ﬁr@x@mwmmﬁﬁqﬁﬁwﬁ%wmﬁ@m
TR (R) : T, STk 3R Te U9 3TTEhT I=aad U et WaTs. § & 39U WA &1 JeuH
V&R Ao 2 |

=t feu Tu e § | T IW T

e

(A) (A) 3R (R) THT I & 3T (R), (A) <1 TET SATEAT AT &

(B) (A) 3N aﬁﬂ?ﬂ%w A)Eﬁu‘aﬁmqﬁm%

(C) (A)&A % Tq (R) €A &

(D) (A) & &, T (R) e 8

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.
Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

3. 2024 UH.E.U. AT AICT HIA-H 75 €dT, JFeAgH W i Wi i efimn i & fore ufegss o
THATIE @ik hl AI1ed HLdl g ?
(A) TgHIIHE (B) gt (C) THThTUTIER (D) ARt

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi
4. T U9 BERR F <M T T TS AIAT-TETAT T oAl e ?
(A) ST FeA (B) BTETg (C) HEHTSg (D) Hed e
Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?
(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
5. uhre fafoada dftemfim 2024 smenfoma & 8
(A) e o (B) deT | (C) g § (D) @t |
Asian Billiards Championship 2024 was organised in
(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
6. Tmfefaa & @ o o a1 fova s =1 foorar & 2
(A) ¥ = (B) T WL (C) | HegiaT (D) ThYT ST
Who among the following is Youngest World Chess Champion ?
(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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10.

11.

12.

frafafiga § @ o-ar My 4 wfrs 2o gug 6 fofa = 8 2
(A) TTATEHR (B) Ta&ToT (C) wfeea THiem

Which of the following is not a method of primary data collection in research ?

GET IT ON
Google Play

(D) AR

(A) Interviews (B) Surveys (C) Literature review (D) Observations
Tareqor & wrter fafyr 61 Sweran ford W AT B
(A) ST e B) faferm &€ fererdfes
(C) 1. FTHE (D) gHT@
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
T JAfhsl o TR 6 fafemi @
a. g e fafy
b. ST JeATaet fafy
c. 3TcATE &
d. et
3 fo U ferpedt # @ T SO IR ;
(A) ad b, ¢, d (B) e a, b, d (C) %ad a, ¢, d (D) ad a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Onlyb,c,d (B) Only a, b, d (C) Only a,c,d

ffetfga o & ig-w1 frero § yreaTenes qeuieh i fersman & & ?

(A) T § gur @ foTe gaa fdfsean Iem

(B) UTSIShH % 37d H US YCH i o {12 ARSI foham ST &
(C) BTAT I 3Teh! ATehd TR HUSNT ! U8 H Heg Hidl 2
(D) Wfreqehi s FUR 6T STELThaT dTct &1 o TR F Fld i o

(D) Only a,b,c

Which of the following is not a characteristic of formative assessment in teaching ?

(A) Provides ongoing feedback to improve learning

(B) Conducted at the end of a course to assign grades
(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

FrefaRad & & -5 oy & oy & 8 2

(A) Trifaeh (B) Ufcrarfaes (C) waegu OEEENIET
Which of the following is not a method of research ?
(A) Philosophical (B) Historical (C) Survey (D) Observation
frafafaa @ @ -1 srnfes Temr %1 YHR =& 8 7
(A) it Teha B) fefaa awwor
(C) =g T Th (D) T T
Which of the following is not a type of non-verbal communication ?
(A) Voice signal (B) Written communication
(C) Eye contact (D) Tactile contact
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13. T=fefea o @ fopm wem 3 o 2005 § - 6 IFaT H 7

(A) 3TE.378. 8. HER (B) =few it wsdt waa farvafemrer

(C) 3ATETSTG foraforRrTerd (D) feeeht foraformer™

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) IIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

14, HIESA( ATE-HTS 1 TN Hid THT, FLEIT T o foTT SWRa =g = 8 7

(A) Torr fopeft wifcraier & Helg=iiel @l a vgs
(B) 3T HIdRM i Ushe i o foru off.i.wq. 1 I9FT oA

(C) Tt TRaTT HUTIIS 37870 i

(D) THI  H1Y 3UHT FHrlaR HTSHT i

When using public Wi-Fi, what is a recommended practice to enhance security ?
(A) Access sensitive account without any restriction

(B) Use a VPN to encrypt your connection

(C) Disable all security settings
(D) Share your connection with others

15, Jeafhn § <. df.wq. o FAF 7 7

(A) T g eaTh (B) STt Ufecteh Feah
(C) afwset wTgee Jeaeh (D) IRHTZE gae Heaeh
What does ‘VPN’ stand for in networking ?
(A) Virtual Private Network (B) Virtual Public Network
(C) Variable Private Network (D) Verified Private Network
16. WRA H S=sfla Ewero e e aiid g3 ?
(A) 1972 (B) 1968 T (C) 1980 (D) 1986 #
When was the Wildlife Protection Act passed in India ?
(A) 1972 (B) 1968 (C) 1980 (D) 1986
17. Tafafea @ @ ®F-H 19 e JWE T8 Serdt & ?
(A) TS SEINEE  (B) Hied HHISAFERES  (C) HiH (D) TTgeH HATFETSS
Which of the following gases does not cause greenhouse effect ?
(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide

18. aYHSA ¥ HiHerHd Ml i Sedt Jgar & f=fafad gwfaa wwa €, & sifafem
(A) CO,®iéemEeRM  (B) Tleel i (C) AT & (D) Safafaerar # gfg

The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except

(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
19. F=fafgd § § SH-91 T WRA 1 HHH T<0E @ 7

(A) hIe (B) =7 (O (D) e

Which one of the following is an artificial port of India ?

(A) Cochin (B) Chennai (C) Mumbai (D) Kandla
20. 9Nd % fopd T | wad 31freh STTSe 1 ITET BT 8 7

(A) 3ITEE (B) ik (C) sfean (D) TefETe

Which State of India is the largest producer of Bauxite ?

(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh
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21. 3ftd =g | AfHeHTg § B9 aTefl a9t 1 JhR F:AT 8 7

(A) Tad (B) ufc shardi= (C) Tae™ (D) shaTd T
What is the type of rainfall that occurs in Tamil Nadu during winter season ?
(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
22, IATCH TUT i TIOAT feheH HT 7
(A) @t feeerr< (B) TS U9 Higd T
(C) Tt gaTH< TTEdt (D) THT = <o
Who founded the ‘Atmiya Sabha’ ?
(A) Swami Vivekananda (B) Raja Ram Mohan Roy
(C) Swami Dayananda Saraswati (D) Radha Kant Dev
23. fr=fafad & @ fop8 1938 § GuTY T 919 & SATTYA ¢ o U¥ETd WA TSR hidd T 3TeTeT I
™Y
(A) TeAWTE A CIEEIESINERS (C) TH SHe (D) Sf. TS JHT1e

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
24. G — | T - 113 |1 gHfera hifre qen giei o Fi= fou mu e 9 9 g 3w gh
T -1 g -l
(Srrder) (A1)
a. 9Tt TR foeteh . Raemwd 3tger
b. ek 37eft Il. 1857 fagre
c. TETeAT Tieft Ill. TSI SATEe (1905 | 1907)
d. SETgL WM& IV. STEEIN JEeH
%
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v i I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List - | List -1l
(Originator) (Movement)
a. Bal Gangadhar Tilak I. Khilafat Movement
b. Shaukat Ali II. 1857 Revolt
c. Mahatma Gandhi Ill. Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A moov Il I
B) | 1] v
(C) I v Il
(D) v i I
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26.

27.

. I AT & SR # frefefed § @ BH-91 B T B

(A) 78 T Tureh fem 2 R foafea 7 fomam s wehar |
(B) zEeh! Ty wermht grr Y STt 2 |

(C) 3HS UTH IFHICIRI sl IR TNYd i 1 MHR B |
(D) ¥ e I IATY F A HETA &l 2 |

Which of the following statements about the Election Commission is true ?
(A) ltis a permanent body that can not be dissolved.

(B) Itis appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

GO e ST |

(A) SHrIaTiereRT, foremfen % wfd Sterh 2
(B) faremfiren, srfurferent o Wi Iaeerh 2
(C) =arauTtereht, Taemfept & fa Iwert &
(D) HRTITShT, =TIUTfeTshl o Ufd ITerR &

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

gYe & fra ged & o=l 9 Yrashod gfufa wfed i st 8 ¢
a. Al g4
b. TS¥ T

c. SNl Hedl o Hewn g
d. Tsgufe gRT A gee 9
= feu o faeshedt & @ T 3w g -
(A) I a (B) haet a 3 b
(C) aet d (D) aA a, b 3R d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses

d. From members nominated by the President
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd
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28. I — | %I FE — 11 3 |1 Al hIfoIT a4 G o = fGu 10 e # & 72 S| g
g -1

g -1l
a. Tey fory . g deY A% A9
b. UTHE HTeUH Il g R s1f% gt my
c. T, U. oifod . sefifafasa we ssse SaaTe
d. FHR A Iv. T AT ¢ Tifades 3% qigeeH
&R
a b c d
(A) 1l I v I
B) I v I Il
(O 1 Il 1Y
(D) | v 0l Il
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
a. Adam Smith I. The Wealth of Nations
b. Thomas Malthus Il. The Theory of Economic Growth
c. W.A. Lewis lll.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) 1l 1] v I
B) I v I Il
C) 1 1] Il v
(D) | Y, 11l Il

29. Hdlg I91¢ 2025261 fohE TSI H @I 912’ I Tfdd Hid 1 YEdE fean T g ?

(A) ST 3T BT (B) forem
(C) ST ¥ew (D) 3T e
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
30. N TSI 2025 — 26 H HATS 1 T8 §1 €I hal ¥ 3T HT SIH & 7
(A) STTEHRT T (B) %] TF TET L
(C) 3 (D) H&H S
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
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31. HWid 3 (MR), o9 (e) U9 Yoo (P) o &9 99y &

The relationship between Marginal Revenue (MR), price elasticity (e) and price (P) is

(A) MR=P— (B) MR-
e e-1
€ -t O =
P e MR e
32. Terrae wim a5k & Ut Wit H HiM A You A TR B 2 |
(A) 3fereh e (B) hu WIeER
(C) TS o SIS T (D) eAT=ER
The upper portion of the kinked demand curve is relatively
(A) More elastic (B) Less elastic
(C) Unit elastic (D) Inelastic
33. fferm o % T o TrE-Y W e o § |
(A) oGl T Frar (B) HEARR T SIS
(C) SHISHTHT wdl whifeq (D) oGl e STy
The Phillips curve deals with relationship between
(A) Wages and price level (B) Price level and unemployment
(C) Unemployment and inflation (D) Wages and deflation

34. ST U9 H YT o AT H A A B B

(A) T (B) 3=

(C) A (D) ¥[A T Th & i

In the liquidity trap, the interest elasticity of demand for money is

(A) Unity (B) Infinity

(C) Zero (D) Between zero and one


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaiM

e

35. T — 1 I FH — 11 % A FAAT B |

T -1
a. g1 Tt
b. Tl UT
c. Siiad sk IEheuHT
d. e yure
%< .

a Cc
(A) 2 1
B) 4 1 3
€ 2 1 3
Do) 4 3 1

N AN R O

Match List — I with List — II.
List -1

e o o 9

Money illusion
Liquidity trap

Life cycle hypothesis

Rachet effect

Code :

(A)
(B)
(©)
(D)

a

2
4
2
4

1
3

3
3

.

N O~ N R o

List -1l
Modigliani
Pigou
Keynes

H wnp =

Duesenberry

36. & 9% ‘X' foeheq I hiTd w9 Bl &, 1 X T% hl A
(A) | Bl
(C) i3 Uitad &t

When price of the substitute commodity of ‘X’ falls, then the demand for X’ will

(A) Decrease

(C) No change

(B) 3fursk Bt
(D) H® &l gl S Hehdl

(B) Increase

(D) Nothing can be said

GET IT ON
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37. AR I dehieh qiEd I e9n | gHIcde 95h

(A) F= i T Ragesar 2 (B) SW hH % Rgwerdr &

(C) &ferst wfieft T grar 2 (D) eI Hieft T@ Brar @
In case of innovation or technological change, the isoquant

(A) Shifts downward (B) Shifts upward

(C) Becomes horizontal straight line (D) Becomes vertical straight line

38. T < % YTAH A H Yt -oran Affera T8 tar 8

(A) forceht fraw = (B) STed Her1
(OREELEE IR (D) STVETE R gRT ST USft
Capital Account in the balance of payment of a country does not include
(A) Foreign investment (B) External assistance
(C) Investment income (D) NRI deposits
39. I % ITIAR, AN @ § TR Tfera g1 <l AT 1 wuTie TE |
(A) TH-¢I 7 (B) Hdehal 89
(C) THI (A) T (B) 7G (D) SuleH H § HIE &l
According to Keynes, changes in the rate of interest do not affect the amount of money held for
(A) Transaction motive (B) Precautionary motive
(C) Both (A) and (B) (D) None of the above

40. TH Y@ BH I Yoo Aqcd THIIG: Bl &

(A) TSR gt &t o (B) TSHIIHR HH T
(C) ot wferaifiran o (D) 3FedTierehi |
Price leadership of a dominant firm is common in

(A) Monopolistic competition firm (B) Monopoly firm
(C) Perfect competition (D) Oligopoly
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41. fr=fafaa yg@ Femet w foem & aur 3% 3h 9 % HIIsh e A 5 JTHR Fafed
i 3f T I A R T gt A g |
. S fham v Aty
Il. TS e T
1. JeEt et ST S
V. Seeee iy &= Jen
< .
(A) 11, 1,13V
B) I, IV, Il 3|
©) M, 1,1V 3|
(D) I, 1, 1l 3TV
Consider the following flagship schemes and arrange them in chronological order of their launch
and choose the correct one from the codes given below :
[. Pradhan Mantri Kisan Samman Nidhi
II. Rashtriya Gokul Mission
Ill. Pradhan Mantri Fasal Bima Yojana
IV. Pradhan Mantri Krishi Sinchayee Yojana

Code
(A) 1, 1, land IV
B) N, IV, llland |
(C) LI, IvVandl
(D) 1,1, 1l and IV
42. foxflw Gaarg & fagra =t fepem smramia fomam 2
(A) 3. TF. S5 (B) ft. faf= (C) . fie (D) 3. TH. &S
Who put forward the theory of financial dualism ?
(A) J. H. Boeke (B) B. Higgins (C) H. Myint (D) R.F. Harrod

43. I: =59 SUSR &1 aredd 8
(A) ATRIS ST SUSTR &
(B) Iehfcueh USHIR 3USTsy 7 &
(C) #iftreh Y HHTd IcaTEehal I &
(D) #ftres <1 IcATCehdT HH &
Disguised unemployment generally means
(A) Large number of people remaining unemployed
(B)
(C) Marginal productivity of labour is zero
(D)

Alternative employment is not available

Productivity of workers is low
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44, = T FF fd ™ F | TH H TR (A) TUT TR HI T (R) HET T |
ATUHH (A) : FH T 3R 3T ferehragiFaT o grash i “FFTeR Jqer T %ad & |
ah (R) : Ut feufa #, Sreen gfg e gfg wa s a2
(A) (A) 3T (R) &HT |1 & 3T (R), (A) i el =me & |
(B) (A) 3R (R)EHI W&l € W (R), (A) ! Hel =TT & 2 |
(C) (A) T 2 W (R)Tod 2 |
(D) (A)TTeTd 8 fobeg (R) WET 2 |
Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : The vicious circle between low level income and economic stagnation is called “low
level equilibrium trap”.
Reason (R) : Population growth rate is lower than the income growth rate in such case.
(A
(B

) Both (A) and (R) are correct and (R) is correct explanation of (A).

) Both (A) and (R) are correct but (R) is not correct explanation of (A).
(C) (A)is correct but (R) is not correct.

(D)

45. Sfie i Witfek TTEET GEehieh 1 TshR foRaT T 8

(A) is not correct but (R) is correct.

(A) WS HEMTE CHTS % gr (B) T < g
(C) fewdita & g (D) Tq. €. #ifd % gr
Physical quality of life index was invented by
(A) Lord Meghnad Desai (B) Nurkse
(C) Hirschman (D) M. D. Morris
46. UL % ghg o THG 1 dHT =T HH-F1 2 7
(A) 3= Afeeh ITHM (B) uftuererar =ht 3reren
(C) UTTHIIeh THTS (D) TEJAM / 37UaH hl g
Which is the third stage of Rostow’s theory of growth ?
(A) High mass consumption (B) Drive to maturity
(C) Traditional society (D) Period of take off
47. TS W@ % ke B Y w8 i = § o1 qof w9 freafofed § @ wR-w g 7
(A) 7w Wfqeafad == (B) 3ferehan Ufa =afdd =
(C) wideafad HTfeh == (D) I § | g &l
Which of the following is the full form of MPCE used in the estimation of the poverty line ?
(A) Minimum Per Capita Expenditure (B) Maximum Per Capita Expenditure
(C) Monthly Per Capita Expenditure (D) None of the above
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49.

50.

T -
a. oY T&=ms afEsH
b. Te =g ufensn
c. Jgq f=ms ufasn
e .
a b c
(A) 2 1 3
B 1 3 2
(C) 2 3 1
(D) 3 2 1
Match List — | with List — II.
List—1

a. Minor Irrigation Project
b. Medium Irrigation Project

c. Major Irrigation Project
Code :
a b c
(A) 2 1 3
B) 1 3 2
C) 2 3 1
(D) 3 2 1

GET IT ON
Google Play

T -1l

1. 12,0003
2. 1,800 @
3. 9,000 ¥

List -1l
1. 12,000 ha
2. 1,800 ha
3. 9,000 ha

Tfaeaeicaes T o1 T 9 38 YR feham ST Eehal 8

(A) 51 &S qE
(C) 3T 6l dqTehd
Competitive advantages can be best described as
(A) Increased efficiency
(C) A strength of organisation

TR Foied a5k shi ST BNl &
(A) S-hT TE
(C) Y& e aTet a5k
Environmental Kuznet’s curve is
(A) S-shaped
(C) Backward bending

-13-

(B) ST Ueh TS ohl AT Hidl &
(D) 3Tt HETEH

(B) What sets an organisation apart
(D) Intangible resources

(B) U-hl T&
(D) 3l ‘U’ hi THE

(B) U-shaped
(D) Inverted ‘U’ shaped
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51.

52.

53.

54.

55.

56.

e o frfefiga amal o & soF-|1 719 foret o1 <At fefan < <fisran ot w g 7
(A) Pt I (B) STHEEAT FTLAT
(C) firft ok (D) afifa Tt =R b
Which of the following measures of poverty shows severity of poverty of a nation ?
(A) Kuznet's ratio (B) Head Count Ratio (HCR)
(C) Gini coefficient (D) Squared Poverty Gap Index (SPI)
b1 Iitad & 20 & arffertur & R fFrefeafad & & fora & doft-Scarer 3uTd gear @ 2
(A) St srerd depiteh aftEaH (B) TeEY dehrieh UREaA
(C) 3ferep dSft IwPTETeht qeh-iieh uRada (D) Teod =1 qewr deopdieh uftada

According to Harrod's classification of technological change, the Capital Output Ratio (K/O) decreases
in case of

(A) Capital saving technological change (B) Neutral technological change

(C) Capital using technological change (D) Hick’s neutral technological change
wia 99 ¥ HfY & 1 gfg o a9 2021-22 % A R

(A) 3.6 fasma (B) 3.9 ufasma (C) 2.9 yfdwra (D) 4.6 fawra
During the year 2021-22, the agriculture sector in India has registered a growth rate of

(A) 3.6 per cent (B) 3.9 per cent (C) 2.9 per cent (D) 4.6 per cent
IV IUA T I SIS < Hal Tl &

(A) GTETCHS TSR (B) HEft ST

(C) EITCH ST (D) =sh1d STSHTI
Unemployment resulting from the skill mismatch is known as

(A) Structural unemployment (B) Seasonal unemployment

(C) Frictional unemployment (D) Cyclical unemployment

TISHT SR 3 WA 1 fobed Sy Serary &=t # fafea fFn g 2
How many agroclimatic zones in India are characterised by the Planning Commission of India ?
(A) 12 (B) 15 (C) 18 (D) 21
TTET HETEHAT T TR ITAN ool o1 SIial & 7
(A) TSRl FHTEHT T Hod
(B) TITGUf THTEAT T TR e
(C) e FETEHT o1 AN LA h FUC o (oM I 6T S aTell Jod
(D) 98 Hod St Wiasy < ITANT o foTu wRifevfiyr TeeHi sl Sfdara &9 & fem Sran 2
What does the non-use value of the environmental resources refers to ?
(A) The value of the environmental resources
(B)
(C) The value assigned to the natural resources without intending to use them
(D)

The market value of the environmental resources

The value that individual gives to the environmental resources for the future use
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57. fr=fafad # @ -1 fem a9 2008 § 3& 6t Toft Setary aiEdd W TS SRIESHT (NAPCC)

1 e T 8 2
(A) TS G frg (B) Tewhras Hiv W s e
(C) Ba wra & forw Ui firmmt (D) ATY Yol ¥ o feTg Ui fer

Which of the following Mission is not a part of National Action Plan on Climate Change (NAPCC)
launched in the year of 2008 ?

(A) National Solar Mission (B) National Mission on Sustainable Agriculture
(C) National Mission for a Green India (D) National Mission for Air Pollution Mitigation
58. Uifeuferehl T HaTsT o HeATehd o ot HH-H 7T SR JeAiehd 61 T fafyr & 8 2
(A) 3o HRE TS (B) feeife wrsfém dorg
(C) fr=tan= #iw AYE (D) Herel TR TUS
Which is not a method of indirect market valuation for valuing ecosystem services ?
(A) Travel cost method (B) Hedonic pricing method
(C) Replacement cost method (D) Factor income method
59. W& & % U H Affferd &
(A) g ST (B) AT < STERIEU &A1 T AR
(C) & Ud e qfH HT IgN (D) SW & Tt
Soil conservation measures include
(A) Contour bunding (B) Afforestation of catchment areas of rivers
(C) Reclamation of alkaline and usar land (D) All of the above
60. Y fH hi SHiwa fuffa gl 2
(A) T IeGHAT T (8) M bt feufa =
(C) Eiieeri it T& W (D) Ul Tt I
Price of the agricultural land is determined on
(A) Productivity of land (B) Location of land
(C) Number of the buyers in the area (D) All of the above
61. 3itad fer @mmd foh Iaamed ¥ W 3 Brft ?
(A) I &L X (B)@sam‘s‘wm
(C) T B o & W (D) =ft 3= &l Bt
At which level of production, the average fixed cost will be zero ?
(A) At zero level (B) At one unit
(C) At one thousand units (D) Never be zero
62. 3cUTE <h! TTERITA ol TSRS <l iH-HT IcdTe Heid URid Hdl § ?
(A) T 3T Hed (B) HIF-STAE 3cUTeT Held
(C) Taea=rfera IcaTe Her (D) TTESA IS Hetd
Which production function exhibits all the three traditional stages of production function ?
(A) Linear production function (B) Cobb-Douglas production function
(C) Mitscherlich production function (D) Transcedental production function
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63. N H fohE 3T e I SN &I AT AMMEY, ?

(A) T 3cTeH Beld (B) T 3T B i

(C) HIF-STed IcATGH et ohl (D) Teamdt IcuTed we &1
Which production function should not be used in agriculture ?

(A) Spillman production function (B) Linear production function
(C) Cobb-Douglas production function (D) Quadratic production function

64. fr=fefad § @ wia-wn smiies fagr s foram 1 39 Hifta gonedi 1 @ tem-3em SgH!
T 3rrafed s § Heg HAT R 7
(A) uftadsfier SFaTal o1 e (B) qoTcHe o1y <1 foram
(C) HH-HHTd-Tfawet =1 fom (D) TR 3 gftadsiiar v =1 fag=

Which of the following economic principles helps a farmer to allocate his limited resources to two
different enterprises ?

(A) Law of variable proportions (B) Law of comparative advantages
(C) Law of equi-marginal returns (D) Principle of fixed and variable costs
65. 3TTIeh g % S BT 2 |
(A) TH-Ieh! CRIAT + 3TTafed gl (B) 3TTEfed QaIdT — dehrilehl qaTdl
(C) Tehrieh! G&TdT + JATafed &l (D) Tehrieh! G&TdT x JATaled &l
Economic efficiency is equal to
(A) Technical efficiency + Allocative efficiency (B) Allocative efficiency — Technical efficiency
(C) Technical efficiency + Allocative efficiency (D) Technical efficiency x Allocative efficiency

66. 3fe T I Bt 1 Y = 50 + 5.93 XO-5 g1 g1l S1aT & df 1= 318 (MP) BT &
If a production function is represented by Y = 50 + 5.93 X then Marginal Product (MP) is
(A) 5.93 X2 B) 2.965 X°°
(C) 2.965X (D) 2.965 X

67. & HiUTd IcUTE Fgal & a1 Ho IS

(A) TR e 9 e @ (B) Hedt & ¥ el B
(C) wdll & & wgel B (D) wredt U | Hedl B
When marginal product increases, total product
(A) Increases at constant rate (B) Increases at decreasing rate
(C) Increases at increasing rate (D) Decreases at decreasing rate
68. & 3NHd IcaTe (T.i.) Aferehdd rar & af 3fHd gitadt amma (Tt =) Brft
(A) ATehan (B) ~IFaH
(C) g uitgd Tl (D) I § | g &l
When Average Product (AP) is maximum, then Average Variable Cost (AVC) will be
(A) Maximum (B) Minimum
(C) No change (D) None of the above
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69. CES 3dTed ®edd H Jfqemda sl & aldl 8

(A) TH (B) =< (C) A (D) I ¥ I
In the CES production function, the elasticity of substitution is
(A) One (B) Infinite (C) Zero (D) Zero to infinite
70. T @ 9 % w/@ & 5C # & T ?
(A) ISt (B) & (C) &l (D) ®HIRI M
Which one of the following is not considered in five ‘C’s of credit ?
(A) Capital (B) Condition (C) Capacity (D) Commonsense
71. TSl AT T 3T 7
(A) ®YT R (B) I3[ =R
(C) ®T 3T A (D) -TohrE =0T
The example of intermediate liabilities is
(A) Crop loan (B) Livestock loan
(C) Orchard loan (D) Land development loan

72. TS AT A BIAT B
(A) e =Te] aRErfeRt /e el eaarl (B) o1 =ITe] Far /st =iTe] whErfert
(C) Fet &eTel /et wieae et (D) =] <Rl /Rt <1 gl
Current liability ratio is equal to
(A) Total current assets/Total current liabilities (B) Total current liabilities/Total current assets
(C) Total liabilities/Total assets (D) Current liabilities/Owner’s equity

73. U3 ol foenfyd femam

PERT was devised in the year

(A) 1959 (B) 1960 (C) 1958 (D) 1957
74. forelt afiSmT & |9y wuTa 1 3Tehe A o fofu freferfea § @ form gebm ot
odToh 3TYIH 8 7
(A) TRE-UR (B) FAHIZ (C) wH-T=A (D) fre-=rd
Which of the following type of evaluation is essential to assess over all impact of a project ?
(A) Ex-post (B) Concurrent (C) Ex-ante (D) Mid-course
75. Trefafaa § @ &9 4Gt srfon o1 T fewpe=< fafu g o
(A) 3TEA & A% T (B) TTH-ARTA HAIITA
(C) e Yaie a9 (D) ¥ s diftug
Which of the following is an undiscounted method of capital budgeting ?
(A) Internal Rate of Return (IRR) (B) Benefit Cost Ratio (BCR)
(C) Net Present Worth (NPW) (D) Pay back period
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76. SL.3E. AN, IISHT H TSI B 2 |
Rate of interest in DIR scheme is
(A) 2% (B) 3% (C) 4% (D) 8%
77. wm=E: fhm a%g & fore foshar sifee wa fosfa Ty swee g § 7
(A) & (B) 34 (C) e, (D) =
In general for which commodity marketable and marketed surplus are equal
(A) Wheat (B) Milk (C) Potato (D) Onion
78. 98 Tehieh Sl AT ! Hed | i fivree & gifera wadt 8, 3§ %ed &
(A) 9fIsT T AR (B) TSt
(C) &fm (D) I H § i T8l
The technique which protects the traders from extreme falls in the price is termed as ?
(A) Future trading (B) Speculation
(C) Hedging (D) None of the above
79. F — 1 I A - 1| % Ty AT R
T - gt -1l
a. ‘{E’f yfenfirar 1. ﬁ‘ﬁﬁﬂ SIS
REEETARGRITGI 2. g (Tumm= fadm) og
c. JTHTYHR TSR 3. T &9 3R faufed o
d. TEHIUHR TR 4. T €9 9]
e
a b c d
(A) 3 4 1 2
(B) 4 1 3 2
(C) 4 2 1 3
(D) 1 2 3 4
Match List — I with List — Il :
List -1 List—1I
a. Perfect competition 1. Differentiated product
b. Monopolistic competition 2. Unique (with no substitutes) product
c. Oligopoly market 3. Homogeneous and differentiated product
d. Monopoly market 4. Homogeneous product
Code :
a b c d
(A) 3 4 1 2
(B) 4 1 3 2
(C) 4 2 1 3
(D) 1 2 3 4
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80. ITTATISh I&] WG AMIH, 2020 % ITTAR oo Flg hl TUHT 1 IR 7
(A) 5 NI % 1o Yoo 1 3
(B) 5 NI o GeUl oI 1 3ad
(C) 12 WEHI &1 S=fed oo
(D) (B)dYUT (C) § ¥ S A &
As per the Essential Commodities Amendment Act, 2020 the calculation of price rise is done on the
basis of
(A) Average wholesale price of last 5 years
(B)
(C) Price prevailing immediately preceding 12 months
(D)

81. YL S[@el FaeH # GehT SIEehI0l 1 3¢9 Bl &
(A) T @ |

(B) T 3TE & foshr® I NI 7 T

(C) THI (A) T (B)

(D) 3cUTE T HaT h TUrEEn | ghg

The aim of the push approach to supply chain management is

Average retail price of last 5 years

Whichever is lower between (B) and (C)
)
)
)
)

(A) To reduce cost of distribution

(B) To reduce the cost of new product development
(C) Both (A) and (B)
(D) To enhance product and service quality
82. & his HY AT IEAM 79 oI Feior, J=R 3R forawor Wit i Sigar & @ 39

ed B
(A) HTehfeT firer (B) Fravm fwrem
(C) SR AT (D) STSIR T e

When a firm or industry combines its pricing, promotional and distribution strategies termed as
(A) Marketing mix (B) Marketing segmentation
(C) Market conduct (D) Market performance

83. E-NAM [ 8311 a4
(A) 1986 | (B) 1991 | (C) 20161 (D) 2018 1
Launching of E-NAM was done in the year
(A) 1986 (B) 1991 (C) 2016 (D) 2018
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84. W INfHT Afed § R-TehRIcHshal sl HI=IAl 1 dTead 3
(A) 3GCTT He H T 1 Teh GHTHS UM
(B) Tereft oft ufcrarer & <RI =1 Tk YT TUTTH
(C) THTEHT T T UM ool
(D) ST § ¥ i T
Non-negativity assumption in L.P. model implies
(A) A positive coefficient of variables in the objective function
(B) A positive coefficient of variables in any constraint
(C) Non-negative values of resources
(D) None of the above

85. MG r=0.8 8, Al JFTE-TEY 0N I HH BT

If r = 0.8, coefficient of alienation will be

(A) 0.64 (B) 0.40 (C) 0.60 (D) 0.80
86. UfaHA Higet 1 Teta faficem g yefsia o 2
(A) 99 TR H qfe (B) Tt wehw i e
(OR:EUEANIERIET) (D) 39 Tt
Wrong specification of regression model may lead to
(A) Type —I error (B) Type — Il error
(C) Multicollinearity (D) All the above
87. TeIDITATANIT T IdT THIRT ST Hebell 2
(A) ST TEH T & gH (B) BT TIPS T o g
(C) ™ X & g (D) TS 3 o g
Multicollinearity can be detected by
(A) Breusch Godfrey test (B) Farrar Glauber test
(C) Glejser test (D) White test
88. Toroiy ®v A TN Yo WY BT B
(A) 39T o 3 o U (B) ®H & fersht & fooier o
(C) TF & HoAiehd & (D) 3WIed | ¥ I &l
Shadow prices are particularly useful in
(A) Consumer’s purchase decision (B) Firm’s sale decision
(C) Project evaluation (D) None of the above
89. 3Tk WHEAT H U AW &1 hl T A o foq, fowecrem @it Zj - Cj &1 7 81 =18
(A) YHTcH 3T I (B) HUMcHb AT A
(C) forwm wH (D) ST | & g T
To get an optimal solution for a maximization problem, the Zj — Cj values in the simplex table should be
(A) Positive or zero (B) Negative or zero
(C) Odd value (D) None of the above
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90. ferTHA T[Tk T W % T BT & |
The value of regression coefficients lies between y 1
(A) >1 (B) —1to+1 (C) —oto+ (D)—Eto+§
91. TATEA-TIH THUE i gL FRAT 1 Fhall &
(A) 3TTRA TISTCHS FTATSRTT b R (B) TT% It St fgfh & st

(C) T Jaeehi ol 3Afereh TTHER SR (D) W% ITETEATE HASI ol T IARIHR ¢t

Line-staff conflict can be overcome by

(A) Congenial Organizational climate (B) Avoiding appointment of staff personnel
(C) Making line managers more responsible (D) Giving complete authority to staff over line manager
92. TrAfaREd H ¥ HH-E TSN f&het s<iedl | e &l 8t & ?
(A) HHART T HAHTT ST (B) a3 ikl =T 3faam™
(C) =T <Y & (D) TS ST ANV HRIHH
Which of the following information is not included in skill inventory ?
(A) Employee’s personal data (B) Salary and job history
(C) Employee’s potentials (D) Organizations training schedule
93. Torm R % rferm @ were foehre Trafd B 7
(A) 8 ®Iva foeprE & (B) B3TST vt ferhrd &
(C) Tafyre = vt faspm | (D) T forepre &
Of which type of learning the management development is concerned ?
(A) Multi-skill development (B) Manual skill development
(C) Specific job skill development (D) Inventory development
94. gEuh firg g ferbfira 1 meft R |
(A) =A% Td TS & gl (B) &5, . ifeA & g
(C) Ifbm fetend & g (D) Teed Bl & g
Managerial grid has been developed by
(A) Blake and Mounton (B) W. J. Reddin
(C) Rensis Likert (D) Elton Mayo
95. HIghHA UICL H Teh 1¢T & foh Teh HH <hl TTHCRIHAT 1 HaH HEdQUl (R I &
(A) el &R # fearfaat (B) I JATHY0T
(C) YU it TR (D) Hicarsit s wifea
Michael Porter has argued the most important determinant of a firm’s profitability is
(A) Conditions in the home diamond (B) Industry attractiveness
(C) Economies of scale (D) Bargaining power
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96. Tmafafiga & @ = =@ (swoT) & Him = 2 2
(A) TTSHTCH qTehd TfaeaeIicdeh oIty <hl 3TR &l of ST Hehdl &
(B) T TIHT A& T Ush-T1< 9T <l &
(C) ST&l TR R e 1 €I §gd AT Td Thishd @
(D) THIT % Tehel 3TRTH T W1 T HAATH X BT &

Which of the following is not a limitation of ‘SWOT’ analysis ?

(A) Organizational strengths may not lead to competitive advantage

(B) SWOT gives a one-shot view of a moving target

(C) SWOT focuses on the external environment which is too broad and integrative
(D) SWOT over emphasises on a single dimension of strategy

97. U ITHl I U W Afh @Rl T W 8, 3H HaEd @

(A) TIEHIferr Jert (B) 3TN

C) HTURE ITHt (D) 3T § T Hig &l
An entrepreneur who is the owner of more than one business is called

(A) Portfolio entrepreneur (B) Intrapreneur

(C) Corporate entrepreneur (D) None of the above

98. T ITW I[E B o T eIl JLRT 1 33T &
(A) G UTEsh 61 @I
(B) Tershl &1 3TIAM T
(C) 78 THZA % foTu fop o Therdn § HIE wen @
(D) I § H I &l

The purpose of a feasibility study to start a new venture is
(A) Exploring for potential customer
(B) To estimate sales
(C) To understand if there are any barriers for success
(D) None of the above

99. Tofa & % @ fean-frdal = FEd ¢ |
(A) TS (B) wifsha (C) ifa (D) T
General guidelines for decision making is called
(A) Project (B) Procedure (C) Policy (D) Rules
100. JEfhar 31fa fiehe &9 @ wafya
(A) J89 § (B) 3NfIshR & (C) &SIk TR & (D) AavEdd o
Entrepreneur is most closely associated with
(A) Management (B) Inventions (C) Public administration (D) Innovations
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